~

3. When her income increased from 1
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1. Market failure can be caused by -
a. low consumer demand. : .
b.. government intervention and price controls. >
-c.  externalities apd market power.,
d. high prices and foreign competition, -

2. Suppose a producer is able to séparate customers into two groups, one having a price inelastic demand and the
other having a price elastic demand. IIf the producer's objective is to increase total revenue, she should
a.  increase the price charged to customers with the price elastic demand and decrease the price
charged to customers with the price inelastic demand. ,
b, decrease the price charged to customers with the price elastic demand and increase the price
“ chatged to customers with the price inelastic demand. i
* .’ & charge the sanie price to both'groups of customers.

- d. tuincrease the price for both groups of customers.

T g TG L :
,000 to $20,000, Heather's consumption of macaroni decreased from 10 pounds

to 5 pounds.and her consumption of soy-burgers increased from 2 pounds to 4 pounds. We can conclude that for Heather,
~ . a.  macaroni and soy-burgers are both normal goods with income elasticities equal to i.

b. - macaroni is an inferior good anﬁ soy-burgers are normal goods; both have income elasticities of 1.

¢.  macaroni is an inferior good with an income elasticity of -1 and soy-burgers are normal goods with

an income elasticity of 1. ' ,
d.  macaroni and soy-burgers are both inferior goods with income elasticities equalto-1.

4. Ifatax is imposed on a market with ¢lastic demand and inelastic supply,
a.  buyers will bear most of the burden of the tax.
b.  sellers will bear most of the burden of the tax. - .
c.  the burden of the tax will be shared equally between buyers apd sellers.
d. itis impossibie to determine how the burden of the tax will be shared.

5. The Coase theorem suggests that private solutions to the externality problem
a.  will always allocate resources efficiently if private parties can bargain without cost..
'b.  are effective under all conditions.
. are only efficient when there are negative externalities.
d.

may not be possible because of the distribution of property rights.

6. Ifa monopolist is able to perfectly price discriminate,
4., consumer surplus is always increased.
b.  total surplus is always decreased.
. the price effect dominates the output effect on monopoly revenue.
d.  consumer surplus and deadweight losses are transformed into monopoly profits,
7. The labor supply curve may have a "backward bending” portion because at higher wages the
-a. . income effect is greater because the individual's income is higher.
b.  income effect is greater than the substitution effect.
. effect of greater income overcomies the desire for more income.
d.  All of the above are correct. .

~ 8.A government can encourage growth andl, in the long run, raise the economy's standard of living by encouraging

a.  population growth,

b.  consumption.

c. saving and investment.
d.  spending.

" 9. Ina fractional reserve banking system, a decrease in reserve requirements

a.  increases both the money muitiplier and the money supply.
decreases both the money multiplier and the money supply.

b.
¢.  increases the money multiplier, byt decreases the money supply. EPR
d.  decreases the money multiplier, but increases the money supply. *ﬁﬂlﬁ ‘E Pﬁ]
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10. If purchasing-power parity holfls, then the value of the
a. real exchange rate is equal to the difference in inflation rates between the two countries.
b. nominal exchange rate is equal to one,
c. real exchange rate is equal to the nominal exchange rate.
d. real exchange rate is equal to one.
11. The Fisher effect says that
a. the nominal interest rate adjusts one for one with the inflation rate.
b.  the growth rate of the money supply determines the inflation rate.
c. real variables are heavily influenced by the monetary system.
d.  All of the above are corrett.

12. When a country's central bank {ncreases the money supply, its
a. price level rises and its currency appreciates relative to other currencies in the world.
b. price level rises and its currency depreciates relative to other currencies in the world.
c. price level falls and its cufrency appreciates relative to other currencies in the world.
d. price level falls and its cufrency depreciates relative to other currencies in the world.

13. The sticky price theory of the short-run aggregate supply curve says that when prices fall unexpectedly, some firms will have
a.  lower than desired prices which increases their sales. '
b. lower than desired prices which depresses their sales.
¢.  higher than desired prices which increases their sales.
d. higher than desired prices which depresses their sales.

.14, According to the theory of lqupdxty preference, which variable adJusts to balance the supply and demand for money?
a.  interest rate
b. money supply
¢.  quantity of output
d. price level

15. Suppose that a central bank increases the money supply. Accbrdfng to the Phillips curve this should make
a.  prices, output, and employment rise.
prices and output rise, employment fall.

b. '
: ices rise and t and empl t fail. > :
(ci . prices rise and output and employment fa ‘#‘%Fﬁ @ EP 5 'I §

prices fall, output, and enjployment rise.
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